
2 �����	


` ENÈ§¨
¥¦
��~CDS°
±NO (2002)3A�NÈ��[²
³ -8´��[N&²³[µ¶6NO (2003)3A���[²³ - N&¥
*
+-

2.1 ���	
��
�

·¸��e��©
�9&�
°�e8Mû&¹�>kY�����
9Z(classical test theory,�º CTT )
»>kY¿"¼*�9Z(½ IRT )

(Crocker and Algina , 1986 ; McDonald , 1999 ; Suen , 1990)-`:�Øø
 �����9ð
¾��9¿"¼*�9-

�����9 (Gullikeen,1950/1987)�¡¿
���9
À ��¡³+

�9
)Áj���U�BkeR
ØøG��9:
³Â�R-B�9
ÃºkYÉ³e��9Z
�~}
�ÄÅ°�Æ3³#e�[É³e�Î

cd�$-×�y ��E#e½k³#e�
IµT>'×�yxõT
Ç�� (�9¥�JÈA )
�=°�#r0'×�yjA
³#e�
(�
É³#e�
èÊ�½ËK0'×�yÌp
�ÍÆ3~
¤0Æ3~Îk
YÉ³e�Z-

�����9�~��Ú����òb¬��9
o·¸��Ànü3
#e�g�©-µ_×�y3#e�
ÏQ
��Ú�¿"#e
¬¯Hk
eR
�B ¿ÐE
�"#e��nâÑ�©-

�9eR
�&/0k�
χ = T + e (2.1)

�Eχ�³#e�
T�É³e� (½ËK0��3Ò�#&ìÉ]ÌpÓÔ
 |Õ
Öe )
ek×Øe� (½ËK0��JQ�#&ìÉ]ÌpÓÔ |
Õ
Öe )-uv (2.1)E
É³e�T�JQ�Ù
W!�x�yÌ~�³


2



Ô |ÕÖeÚ×Øe� eÛ�JQ�Ù
)�x�yÌ~ÜN
Öe-��
MÖeÝÞgü
½�3ß
³#e�-�9¥
É³e��×��A�

­®
��à_Y�áZ
ÖeÚ³Â¥
�R>A��3#
³#e�â
[É³e�4ÉØã
½k×Øe�
(×Øe�×r��ängåÛ$­
®æû
�ËK��Àn�Y°áZ-

2.2 �	

Mehrens[Lemann(1991)8çaè��
r©´�a�³
än-(»>«
´
ÏQ¤�ék���k+>ê%ë
ËW
µóþ|ÕHì��³

4,��í (�ìî

 79)-ï(
¥´3�
M�ÏQ¿����[�³
ðk>q
�V�Pñ��[�³gÎd'�Ðòe
�~ó�-(`:
¤���9��kèôò
�âµ�³4jõghi
o)��Mehrens[
Lemann(1991)
r©kBëò-I����Îk>�ö<9:
än
Ã�
�½�÷ø×�y>ê7Ú
\"ÿõù1
�u÷øx�y1ú�
Ö
e
o���|û-

�x�yör��Àngü
üý�ef
þ$bÏ
¿"`ÿ�]n
4|}
³�|�
¢��¢$a%�&}$a%�-BMa%Ê4|}�
©� 
o)tZefU
���Ma%>�tZ�4-

2.3 ���

�_`:
��µ��� !"k�
3���ÿõY !"Z>óQ8Û

r©- !"��>ó\"[°Ì
 	3#8
(×�y
¼*� !
÷ø\"]ÛÓ�¡
1E
 	-�\".u°���Ö\ñÓ�>ó�
7�hiñ¬��i
�
�b+�>�
hi«u
�*0�>óÌ±×
�y���·��©
>ó\"- !"
�u�à_Q�û

°+_�
³����·�AF��T
&�8m-

3



 !"
{ò
�°��*+_F��T�¬
��¥
²e«uQ�
�-�_ 	j��ÀLó
3�#e× �­®
�$QN-!ò¤k�
�>� !�
"#��
$Ì���:�A
\"-�k !"$z~]
Û1E½°
3�%�
&�Àno�8&-Ð��H'Zk
­®��É
³û-

 !�¿"n4(µ]Û
%ë1E
×�yH1¼*$4]Û�1µ (

½Ò>kY1Z)
Ó/×�1/ (½Ò>kY0Z)
�)Á4*µÓ*/
.
+I�ôì
)Ð_���b348�-

2.4 ��

>O,�U+b�³-É|�}%
¿"<Ý.
u°�ºcY��Z
(test)-��
v<Ý
°+b�³�T
v}%y
TU/i×�y -É
�³}%
0´À�
½,ºcYe��Z(subtest)Ó�Y"#Z(testlet)-
T>"#
¿"â,ékP�T"#
¿"n4Qö
c1ûÓ�TÕû-

¿"ef
Öe
$¥¦Y¢$a%Z[Y&}$a%Zr©-

2.5 ����

¢$a%�+bK23G¿"¢Ð�$
a%-r©�ð�

Pi =
PiH + PiL

2
i = 1, . . . , n. (2.2)

�EPiH[PiLe}ËKö�NeO
&ì ? iG¿"¥1µþ�4eP-³
�¥
ö (N )eO�8�k� (ü ) q × 1005
×�&ì
�E 1

4
≤ q ≤ 1

3
-

uv (2.2)½K23G¿"
¢$a%��öeO[NeO1µ4ePg
èÊ-Pi~6ûö
¤K20¿"Q7ÐÚ¼g
Pi~NU
½K2¿"Q
8¢-I�Pi�Ö9 0.50U
¤K20¿"�¢Ð�E-:I¿"8¢$�
röNeO&ìÊ1/U
BU¢$a%~�k 0-¿"���$r�öNe

4



O&ìÊ1µU
BU¢$a%~�k 1-�B
¢$a%�¥_ 0[ 1gÎ

�~-�B°�
B�~·�«u[>;��]�c¼
��z~|}�
�
�«-

��¡�~}
½�òe×�yÌpöN
3�x�yÄÅ
¡
¢$
a%�Ö90.50
V´�¿"�à_¢Ð�E
BU¿"¡Ìòeè×�y

ÌpØã-Wx�y��kG�r¢$a%�Ö9 0.50�%ë
¼($ÿõ
×�y>É¢Ð�E
¿"Ú*0�eR×�y
³ÂI�
xõ��
�
<=>��
�~}
-

2.6 �����

>����~�+bòe×�yÌpöN
3�4&}$a%
lì-r©
�ð�

Di = PiH − PiL i = 1, . . . , n. (2.3)

�EPiH[PiLËK
�©T¢$a%E3ÿrg�©-

�uv (2.3)°�Di~?�¥_±1.00gÎ-I¿"�_7ÐU
öe#
[Ne#
&ìÊ1µ
½K2ö�Ne#
1µ4eP~Ê� 1
Ø~�â
�_@Úcµ�
¿"�à_8¢U
öe#[Ne#&ìÊ1/
½K2
ö�Ne#
1µ4eP~Ê� 0
Ø~Û�_@-´B(�
�_��Ó�
8¢
¿"
��n4{A
&}$-

¿"&}$�a¿"
BÕ{|
(�¿"BÕ{|
qC�à_��«
´
o.>r%ë°øx�yckCD-�B
>ó�+bD ¿"%ë

�YEDè&}$a%Qö
¿"
ïü
üED è¢$a%Qk�E

¿"-Z(�ìî

 79)
�	ØÙ°÷øx�y  "U
CD-

F÷
��&yEbel[Frisbie(1991)÷èG>ê&}$
qC%ë
�
K 132
~#x�y=ckCD-°eG�êqC%ë[��}

üef
¿"
��E
D èQn4A�&}$a%
¿"
�É¿"j*�4Q

5



öBÕ
¿" ,�ï°�ck"H¿"g+-

ûj�
��IýØÙD ¢Ð�E
¿"
��QkJ�
HQ
�
k¿" ¢Ð�E
I�ð
�
&}$a%~°��r¡û-W_³�¥
�Ð�r��ýK
èL-�B4É&y���0.40À0.70gÎ
¢$a%~
(MHk !"
D ë¤ (Ahmann[Glock
1981)Ú(4É&y��� 0.40

À 0.80gÎ
¢$a%~(MHk%ë-W´Ú�¿Ð(�
¢$a%~�
��Ö9 0.50Hk�T
¿"D %ë-

K 1 &}$
²&%ë

&}$a% ¿"²&Àn

0.40�¥ ��{A
0.30À 0.39gÎ {A
W°Ìz~ÜÝ
0.20À 0.29gÎ N°
W�cOÖÜÝ

0.19�ð |
z~PF

°
±NO(2002)3AYNÈ��[²³ -8´��[N&²³Z>ªE
=4
>ê� ³�¥34¢$a%[&}$a%~g���uTESTER for Windows

�u 2.0Q
`êR._ö (N )eOgÏØ0r~�ð��×�þ����þ
U
ö (N )eO�8�k� (ü )�eg>g×�&ìÚ�×�þ� ��þ
�ðU
ö (N )eO�8�k� (ü )¤eg>g×�&ì-

2.7 ��������������

Ebel(1967)÷r����3&þ$bÏ
¿"
¢$a%[&}$a%gÎn
4ST
d'->���¿"I�Í¢U
×�y#eûÖeâ<E Ne
ò?gÏ
Úó��e�
UVâ%�]ÍWe2
PñJQq}ÌpQN

×�yH1I�-I�¿"ÍÐU
×�y#eûÖeâ<E öeò?

6



Ï
�b#��e�
UVâ%�vÍWe2
BUJQXÐq}ÌpQö

×�yH1Øã-

¢$a%[&}$a%MyÎ
d'�Y 132-�Y 1°�Myd'�
8Z�e[
I¢$a%~\]_M^_`½Pi~k0.00Ó�1.00a
¤&}
$a%\9_ 0-|}
�
�¢$a%~Ö9 0.50U
&}$a%�°Ìâ
r�¡û`½Di~k±1.00a-

>;(�
v
&}$a%~¿"�bcg
�k�É¿"°Ìn4-
�$¥
d1Ìp
Wd1Ìp�k`:��(M
¾�j¬9i-�Y 1(
�
$k+Y�
¥*Ö-I~b¿"e� >r
BÕfë
�
 ¿"
 !U*0D ¢$a%~Ö9 0.50
¿"Qk�Ý-

Y 1 ¢$a%[&}$a%
d'

B`¥(� ,�����93b+
¢$a%[&}$a%
��>�Ç
`eg (sample dependent)
a%
��hA¿"ef
ÀnâiAx�Ç`
(43�T-¿"ef
Àn
$Ì"#>ó pjUû y
�3a%
�B�
=
|Õ�âkr�á-Bg
×�y
þ��NÈlm�Ìpfë
öN
[&��W��n
Ê�­®¿"ef
Àn-

7



2.8 ��

` �o>��)"�8�Ñ�L�.u (½}�³�¥3k+g34«
u )34¢$a%[&}$a%-
) 1

/04�@'&ìù1>�¿Ð
B¿Ð�4�G¿"
)3G¿"Ê4�
ó 	-&ìH1I�eG1µ"��öÀNeípq
�K 2-

K 2 ) 1H1I�

" +&ì�+
1 2 3 4 5 6

1µ"�

1 C B D A D B 6

2 C B D A D D 5öeO







3 A B D A D B 5

4 C B C A D B 5

5 C B D A A D 4

6 C D C A D D 3E¬ì







7 C B C A A D 3

8 A D C A D D 2

9 A B C B A D 1

10 C D C B A D 1NeO







11 A D C A A D 1

12 A D C B A D 0

]Û1E C B D A D B

1µ- 7
12

7
12

4
12

9
12

6
12

3
12

kG�L�.u
34~[���uTESTER for Windows�u2.0Q
rè
ÀnH>µG
`)gö (N )eO�8�k� (ü )¤eg>
×�&ì-
`)s�?>G"�8¢$a%[&}$a%
34��
�õ¿"ÊtG

8



B34«Q-
ö (N )eO_?>G"
1µ-34���ð�

P1H =
öeOE1µ?>"
þ�

öeOE
¯þ�
=

3

4

= 0.7500

P1L =
NeOE1µ?>"
þ�

NeOE
¯þ�
=

1

4

= 0.2500

�uv (2.2)[ (2.3)°�#?>G"g¢$a%[&}$a%~
�ð�

P1 =
1

2
(P1H + P1L)
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= 0.5000

D1 = P1H − P1L
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1 0.7500 0.2500 0.5000 0.5000
2 1.0000 0.2500 0.6250 0.7500
3 0.7500 0.0000 0.3750 0.7500
4 1.0000 0.2500 0.6250 0.7500
5 1.0000 0.0000 0.5000 1.0000
6 0.7500 0.0000 0.3750 0.7500
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